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Worksheet 3 - Lesson 18

Strategies for Word Problems

1. Read the problem carefully. Underline the important picces of information. Assign
variable names to the things you need or want to find.

2. Draw a picture! Label your variables in the picture.
3. Write equations for what’s been given to you and for what you want to find.
4. Use the equations to solve for what you want.
5. CHECK YOUR ANSWER! Is my answer reasonable? Does it make sense? Does it
have the correct units?
Together

1. How much pure alcohol should be added to 20 liters of 40% alcohol concentration to increase the concentration

to 50% alcohol?
@ % @ B @ ¥ 4+ 0.4(20) = 0.5(20+ x)

1
= +
(0o 7, 407, &7, X+ ¥ o 2. %

_?lt v = 2 X = L.-‘!‘Qfﬁ

2. From the top of a canyon, the angle of depression to the far side of the river is 58°, and the angle of depression
to the near side of the river is 74°. The depth of the canyon is 191 meters. What is the width of the river at
the hottom of the canyon? Round to the nearest tenth of a meter.

i L k Yo \\4.28D
T o4t
L V= td \E Wit e (Ve e au\om&-j

*= and® «]—ynb"s A. [, meters.

3. A grain bin in the shape of an inverted cone has height 11 feet and radius 3.5 feet. If the grain in the bin is 7
feet high, calculate the volume of the grain to one decimal place. Hint: Use similar triangles.
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4. A company wishes to run a utility cable from point A on the shore to an installation at point B on the island.
The island is 6 miles from the shore and the company at A is 9 miles from point C. It costs $400 per mile to
run the cable on the land and $500 per mile under water. Assume that the cable starts at A, runs along the
shoreline, and then anlges and runs under water to the island. Let 2 represent the distance from C at which
the under water portion of the cable run begins.

(a) What are the possible values for #?

[o.a)

(b) Express the total cost of laying the cable in terms of @.

CCX\:[{W(Q,X\ + 5p0 \I_%\:*—;;‘

(¢) Find the total cost if 3 miles of cable are on land.

({0 28544264

5. Marion is observing the launch of a space shuttle from the command center. When she first sees the shuttle,
the angle of elevation to it is 16°. About 10 seconds later, the angle of elevation is 74°. If the command center
is 1 mile from the launch pad. how far did the shuttle travel while Marion was watching and what was it’s
average speed in miles per hour? Round to the nearest thousandth of a mile.
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